Financial Maths Revision
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December 10, 2014

3. Present value
e.g. If the effective annual rate of interest is
5-75% , find
@ the value in twelve years time of €6500

due in two years time,

(i1) the value one year ago of €4800 due in
two and a half years time,

(iii) the value in two years time of €6000
due in sixty six months time.
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3. Present value

e.g. If the effective annual rate of interest is

5:75% , find

(i) the value in twelve years time of €6500

____due in two years time,

the value one year ago of €4800 due in

two and a half years time,

(iii) the value in two years time of €6000
due in sixty six months time.

p-PF&%f Valut, o{—? €4%0 |

S ﬂ,u'qrs Linne !
= 4fc0 . = € 2746-91
(- ooubt



	Page 1

